STEP 1
1. WITH SOMEONE ELSE'S HELP, PLACE THE TOP UPSIDE DOWN ON A CLEAN AND FLAT

STEP 2

2. ALIGN THE LEGS WITH THE HOLES IN THE BOTTOM
OF THE COVER AND FIX IT USING THE DOWEL 10 X 40

3. ONCE'S THE LEGS ARE IN PLACE, INSERT THE d
SOCKET ALLEN BUTTON HEAD 5/16 x 1-1/4" AS
SHOWN IN PICTURE.

FLAT WASHER 5/16 X 1"

/

SPLIT LOCK WASHER 5/12"
NS - | SOCKET ALLEN BUTTON HEAD 5/16 X 1-1/4
/ DESCRIPTION

#
FLAT WASHER 5/16 X 1" 4
o LSFT.E003 SPLIT LOCK WASHER 5/16" 4
~r- SOCKET ALLEN BUTTON HEAD 4
5/16 X 1-1/4"
DOWEL 10 X 40 8
1

INTERNATIONAL ' ASSEMBLING INSTRUCTION ALLEN KEY 3/16




DESCRIPCION

RONDANA PLANA 5/16 X 1

RONDANA DE PRECION 5/16

TORNILLO ALLEN 5/16 X 1-1/4"

PERNO 10 X 40

0| N | M| M |FH

LLAVE ALLEN 3/16

CODIGO:

COLECCION:
INTERNATIONAL

JRNITUR DIRECT, LLC



	Hoja1
	Vista de dibujo7
	Vista de dibujo8
	Vista de detalle A (1 : 7)
	Vista de detalle B (1 : 7)

	Hoja2

